| | Bharat Petrole | eum Corno | | | pointment of RE BPCL) Proposes to | | | | | | ne followin | g detai | ls | |
|--------|---|-------------------------|-------------------------|--|--|----------------|-------------|------------|-------------|---|---|------------------------------|--|------------------|
| Sl. No | Name of location | Revenue District | Type of | Estimated monthly Sales Potential # | Category | Type of Site* | Minimum Dim | | 1.)/Area of | Finance to be arraby the a | anged Rs in lakh | Mode of Selection | Fixed Fee / Minimum Bid amount | Securit Depos |
| 1 | 2 | 3 | 4 Regular / Rural | MS+HSD in Kls | 6 SC/SC CC-1/SC CC-2/SC PH/ST/ST CC-1/ST CC- 2/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH | 7 CC/DC/CFS | Frontage | 8 Depth | Area | 9a Estimated working capital requirement for operation of RO | 9b Estimated fund required for development of infrastructure at RO | Draw of Lots / Bidding | (Rs.in Lakh) | (Rs.in Lakh |
| 1 | ATHOLI | KOZHIKODE | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 2 | Anjarakkandy | KANNUR | RURAL | 155 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 3 | Erikulam | KASARAGOD | RURAL | 90 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 4 | Between Cheparamba and Chemberi | KANNUR | RURAL | 45 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 5 | Between Kumbala and Badiyadukka | KASARAGOD | RURAL | 125 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 6 | Ariyallur | MALAPPURAM | RURAL | 95 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 7 | SREEKRISHNAPURAM | PALAKKAD | RURAL | 83 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 8 | Chakkittappara | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 9 | CHEKKIKULAM | KANNUR | RURAL | 95 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 10 | BALAL VILAGE | KASARAGOD | RURAL | 120 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 11 | Chemancherry | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 12 | Ayancherry | KOZHIKODE | RURAL | 100 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 13 | Changottukavu Between Patternadakkavu to Thirunavaya on | KOZHIKODE | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 14 | Puthanathani-Thirunavaya Road | MALAPPURAM | RURAL | 105 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots Draw of | 5 | 4 |
| 15 | CHEMBRAKANAM | KASARAGOD | RURAL | 130 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 16 | Kodiyathur | KOZHIKODE | RURAL | 75 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 17 | Cheruvanchery Cheruvannur in Perambra | KANNUR | RURAL | 65 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 18 | block | KOZHIKODE | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 19 | CHITTADI | PALAKKAD | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 20 | KODUMBA | PALAKKAD | RURAL | 100 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 21 | Choyamkode Chittariparmba @ Kannavam - Koothuparmaba road | KASARAGOD KANNUR | RURAL | 100 | OBC OPEN | DC DC | 30 | 25 25 | 750 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 23 | Between Koothuparamba and Cheruvanchery | KANNUR | RURAL | 50 | OPEN CC 2 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 24 | Between Pazhayangadi and Pilathara(On Pilathara â€"Pappinisseri Rd) Between Pazhayangadi | KANNUR | RURAL | 80 | OBC CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 25 | and Taliparamba Via Narikode | KANNUR | RURAL | 50 | SC CC 1 | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 26 | CHULANUR | PALAKKAD | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 27 | Kadalundi | KOZHIKODE | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 28 | Dharmathadka | KASARAGOD | RURAL | 70 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 29 | Kuttikol to Kundamkuzhy | KASARAGOD | RURAL | 90 | sc | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | KAMBIL TO KOLACHERY (KATTAMPALLY -MAYYIL | | | | | | | | | | | Draw of | | |
| 30 | ROAD) | KANNUR | RURAL | 155 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 31 | Kattipara | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 32 | Kadambar | KASARAGOD | RURAL | 90 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 33 | Kizhakkoth Between Thirunavaya to Pallipadi on Tirur- | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of | 5 | 4 |
| 34 | Kuttipuram Road Kodencherry | MALAPPURAM KOZHIKODE | RURAL | 105 | ST OPEN | CFS DC | 30 | 25 25 | 750 750 | 12 | 30 | Lots Draw of Lots | 5 | 4 |
| | | KASARAGOD | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of | 5 | |
| 36 | Kanhirapoil Chuzhali | KASARAGOD | RURAL | 30 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of Lots | 5 | 3 |
| 38 | Madakkara Old Fish Landing Center (With Water Frontage and Road Access) | KASARAGOD | RURAL | 44 | SC SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 39 | Kannapuram to Pazhayangadi | KANNUR | RURAL | 115 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 40 | Koodaranji | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 41 | KOORACHUNDU | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 42 | Karasseri | KOZHIKODE | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 43 | MIYAPPADAVU | KASARAGOD | RURAL | 70 | sc | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 44 | KOTTAYI | PALAKKAD | RURAL | 105 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 45 | KUNISSERY - KOLLENGODE ROAD | PALAKKAD | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |

| 46 | Kelakam not on SH | KANNUR | RURAL | 110 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
|-----|--|-------------------------|-------|-----|-----------|-------|----|----|------|----|----|-----------------|---|---|
| 47 | Kolayad | KANNUR | RURAL | 60 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | · | | | | | | | | | | | Draw of | | |
| 48 | KUTHANNUR | PALAKKAD | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 49 | KUTTIYATTOOR | KANNUR | RURAL | 85 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Kootumoochi to Chettipadi | | | | | | | | | | | Draw of | | |
| 50 | Jn on Chettipadi Road | MALAPPURAM | RURAL | 110 | OBC PH | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 51 | Mambaram | KANNUR | RURAL | 211 | SC PH | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 52 | Madavoor | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | | | | | | | | | | | | Draw of | | |
| 53 | MALAPPATTAM | KANNUR | RURAL | 90 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 54 | KERALASSERI MAYYIL (MAYYIL IRRITY | PALAKKAD | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 55 | ROAD) | KANNUR | RURAL | 170 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| 56 | Maniyur | KOZHIKODE | RURAL | 100 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | | | | | | | | | | | | Draw of | | |
| 57 | Nochad KODUVAYUR - TRIPALLUR | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 58 | ROAD | PALAKKAD | RURAL | 130 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 59 | Omassery | KOZHIKODE | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | MOODAL TO KANHIPPURA | | | | | | | | | | | Draw of | | |
| 60 | BYE PASS ROAD | MALAPPURAM | RURAL | 140 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 61 | Madhur | KASARAGOD | RURAL | 110 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 62 | Plachikkara | KASARAGOD | | | | DC | 30 | 25 | 750 | | 30 | Draw of Lots | 5 | 4 |
| | | | RURAL | 100 | OPEN | | | | | 12 | | Draw of | | |
| 63 | Oduvallithattu | KANNUR | RURAL | 25 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 64 | Moodadi | KOZHIKODE | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 65 | Pallikal on Kakkanchery- Kottappuram Road | MALAPPURAM | RURAL | 90 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | | | | | | | | | | | | Draw of | | |
| 66 | Perumanna | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 67 | Thuvvur | MALAPPURAM | RURAL | 90 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 68 | AGALI | PALAKKAD | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 69 | Pulpatta | MALAPPURAM | RURAL | 85 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 70 | Vallikkunu | MALAPPURAM | RURAL | 85 | OPEN | DC | 30 | 25 | | 12 | | Draw of | - | |
| | Oyoor on Oyoor- | | | | | | | | 750 | | 30 | Lots Draw of | 5 | 4 |
| 71 | Pooyappally Road | KOLLAM | RURAL | 149 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | On Kalady to Malayatoor | | | | | | | | | | | | | |
| 72 | main road (within 10km from Kalady Junction) | ERNAKULAM | RURAL | 263 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | | | | | | | | | | | | Draw of | | |
| 73 | Arthunkal-Cherthala Road | ALAPPUZHA | RURAL | 115 | OBC CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 74 | Between Mavelikara and Kattanam via Kurathikadu | ALAPPUZHA | RURAL | 105 | SC CC 1 | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| / | Between | ALAI I OZIIA | KOKAL | 103 | 30 00 1 | CIS | 30 | 23 | 730 | | 0 | Lots | 0 | |
| 75 | THATTARAMBALAM and CHENNITHALA | ALAPPUZHA | RURAL | 105 | OPEN PH | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | MUTHALAMADA | | | | | | | | | | | Draw of | | |
| 76 | GRAMAPANCHAYAT KARIMUGAL TO | PALAKKAD | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 77 | PALLIKARA ON LHS | ERNAKULAM | RURAL | 220 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 78 | Ezhuppunna | ALAPPUZHA | RURAL | 125 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 79 | PATTIMATOM TO PUTHENKURISH | ERNAKULAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | | | | | | | | | | | | Draw of | | |
| 80 | Muzhappala WITHIN 2KM FROM | KANNUR | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | NEENDOOR JUNCTION(ETTUMANOOR- | | | | | | | | | | | | | |
| | KALLARA ROAD) ON LHS | | | | | | | | | | | Draw of | | |
| 81 | TOWARDS KALLARA On the Kovalam- | KOTTAYAM THIRUVANANT | RURAL | 255 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 82 | Vizhinjam road | HAPURAM | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| 83 | Kanichukulangara | ALAPPUZHA | RURAL | 120 | sc | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 84 | Nayattupara to Chattukapara | KANNUR | RURAL | 180 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 04 | Cirattukapata | KANNUK | NONAL | 100 | OBC | DC DC | 30 | 23 | /30 | 12 | 30 | LUIS | J | |
| | WITHIN 4KM FROM | | | | | | | | | | | | | |
| | NEERPARA | | | | | | | | | | | | | |
| | JUNCTION(THALAYOLAPAR AMBU-KANJIRAMATTOM | | | | | | | | | | | | | |
| 0.5 | ROAD) ON LHS TOWARDS | VOTTAVA | BUDA: | 100 | ODEN | 5.0 | 30 | 25 | 75.0 | 43 | 30 | Draw of | _ | |
| 85 | KANJIRAMATTOM KAYANKULAM KAYAL | KOTTAYAM | RURAL | 190 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 86 | MARINE OUTLET | ALAPPUZHA | RURAL | 100 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 87 | Kodamthuruthy (not SH) | ALAPPUZHA | RURAL | 110 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 88 | NELLIYAMPATHI | PALAKKAD | RURAL | 60 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| | | THIRUVANANT | | | | | | | | | | Draw of | | |
| 89 | Aruvikkara Pothencode to | HAPURAM THIRUVANANT | RURAL | 190 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 90 | Venjaramoodu Ongallur Village in | HAPURAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Pattambi - Cherplassery | | | | | | | | | | | Draw of | | |
| 91 | ROad | PALAKKAD | RURAL | 130 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 92 | Mararikulam beach road | ALAPPUZHA | RURAL | 110 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 93 | Chirayinkheezhu- Kaniyapuram | THIRUVANANT HAPURAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | Maranallor (On Neyyatinkkara Kattakada | THIRUVANANT | | | | | | | | | | Draw of | | |
| 94 | road) | HAPURAM | RURAL | 180 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | | | | | | | | | | | | Draw of | | |
| 95 | Othayi | MALAPPURAM | RURAL | 90 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |

| 05 | Pullukulangara(Within 2kms of Pullukulangara Jn. on Pullukulangara - Kochiyude Jetty Road) | ALAPPUZHA | BUBAL | 120 | G. | CTC | 20 | 25 | 750 | 0 | | Draw of | 0 | - |
|-----|--|-----------------------------------|-------|-----------|--------------------|-----------|----------|----------|------------|----|----------|----------------------------|---|---|
| 96 | Between Amaravila Jn and Ottasekharamangalam Jn | ALAPPUZHA | RURAL | 130 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | on the Amaravila- Ottasekharamangalam | THIRUVANANT | | | | | | | | | | Draw of | | |
| 97 | Road Thachottukavu to Anthiyoorkonam | HAPURAM THIRUVANANT HAPURAM | RURAL | 100 | OPEN OPEN | DC DC | 30 | 25 25 | 750 750 | 12 | 30 | Lots Draw of Lots | 5 | 4 |
| 99 | pattambi to kodumunda | PALAKKAD | RURAL | 255 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 100 | Sivakripa (haripad Veeyapuram Rd) Kaimanam - Thiruvallom | ALAPPUZHA THIRUVANANT | RURAL | 75 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots Draw of | 0 | 2 |
| 101 | Road | HAPURAM | RURAL | 120 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 102 | Pinarayi | KANNUR THIRUVANANT | RURAL | 200 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 103 | Vazhayilla to Kachani Parassala to Uchakkada | HAPURAM THIRUVANANT HAPURAM | RURAL | 220 | OPEN OPEN | DC DC | 30 | 25 25 | 750 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 105 | Thaickal to Kalappurackal | ALAPPUZHA | RURAL | 110 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 106 | Puramery | KOZHIKODE | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots Draw of | 5 | 3 |
| 107 | Eruva-Kakkanad Road | ALAPPUZHA | RURAL | 65 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 108 | Nedumudy to Thakazhi Thevery (mannar veeyapuram rd & Thevery | ALAPPUZHA | RURAL | 80 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 109 | Rd) | ALAPPUZHA | RURAL | 50 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 110 | Puthuppady MANJAPPARA ON AYOOR- MANJAPPARA-KOTTUKKAL | KOZHIKODE | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 111 | ROAD Thrippermthura to | KOLLAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 112 | pavukkara Thazhe Chova to Mowanchery not on NH | ALAPPUZHA KANNUR | RURAL | 45 188 | OPEN CC 1 OBC | DC DC | 30 | 25 25 | 750 750 | 12 | 30 | Lots Draw of Lots | 5 | 3 |
| 114 | Vettiyar to Edappon | ALAPPUZHA | RURAL | 50 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 115 | PADAPUZHA ON MUNNUMUKK-POREKKAL ROAD | KOLLAM | RURAL | 114 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 116 | Aranmula to Kulanada Road (Not on Highway) THENKURISSI | PATHANAMTHI TTA | RURAL | 190 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 117 | GRAMAPANCHAYAT ON KUZHALMANNAM TO KODUVAYUR ROAD | PALAKKAD | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 118 | KADUVAKALAM | KOTTAYAM | RURAL | 160 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 119 | POREDAM ON CHADAYAMANGALAM- PALLIKKAL ROAD | KOLLAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | Roaduvila on Ayoor - | | | | | | | | | | | | | |
| 120 | Ithikkara Road(Between Ayoor & Oyoor) Therthali(Cherupuzha | KOLLAM | RURAL | 155 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots Draw of | 5 | 4 |
| 121 | Alakode road) Panmana Village on Sasthamcota - Chavara | KANNUR | RURAL | 130 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 122 | Road Mannanam within 2kms | KOLLAM | RURAL | 150 | OPEN SC CC 1 | DC | 30 | 25 | 750 | 0 | 30 0 | Lots Draw of | 0 | 2 |
| 124 | Mannanam within 2kms On Kadamattom- Karukapally main road Kadayirippu(on | ERNAKULAM | RURAL | 200 | SC CC 1 OPEN CC 2 | CFS DC | 30 | 25 25 | 750 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 125 | Kollenchery to Pattimattom main road) | ERNAKULAM THIRUVANANT | RURAL | 160 | OBC CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots Draw of | 5 | 3 |
| 126 | Parasuvaikkal BETWEEN PRAKASH TO | HAPURAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 127 | SANTHIGRAM | IDUKKI | RURAL | 145 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 128 | Thikkodi KULAPPADAM ON KANNANELLUR-PALLIMON | KOZHIKODE | RURAL | 250 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 129 | ROAD THUMPAMON TO ANANDAPALLY | KOLLAM PATHANAMTHI | RURAL | 100 | OPEN OPEN | DC DC | 30 30 | 25 25 | 750 750 | 12 | 30 30 | Lots Draw of Lots | 5 | 4 |
| 130 | Thuneri | KOZHIKODE | RURAL | 100 | OPEN | DC | 30 | 25 | 750 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 132 | Thopramkudy(Not on State Highway) | IDUKKI | RURAL | 130 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots Draw of | 0 | 2 |
| 133 | ARAVILA(MARINE RO) Ezhumattoor - Paduthodu | KOLLAM PATHANAMTHI | RURAL | 270 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 134 | Road Vengara to kannamangalam | TTA MALAPPURAM | RURAL | 100 | OPEN OBC | DC DC | 30 | 25 25 | 750 750 | 12 | 30 | Lots Draw of Lots | 5 | 3 |
| 133 | Between Aluva pump junction & Marampally | TORAIVI | HONAL | 100 | OBC | | 30 | 23 | ,30 | 12 | 30 | 2013 | J | |
| 136 | Junction On Aluva to Perumbavoor main Road West Kallada on | ERNAKULAM | RURAL | 230 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 137 | Kadapuzha - Karalimukk Road On Vallom Panamkuzhy | KOLLAM | RURAL | 130 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 138 | road between Kodanad and Panamkuzhy | ERNAKULAM | RURAL | 165 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots Draw of | 5 | 4 |
| 139 | Kanthalloor THAMARAKUDY VILLAGE ON PATTAZHI - MYLOM | IDUKKI | RURAL | 135 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 3 |
| 140 | ROAD Kadampanad to Mannady on Kadampanad - Enath | KOLLAM PATHANAMTHI | RURAL | 180 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 141 | Road | TTA | RURAL | 135 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |

| | Between Nedumbassery | | | | | | | | | | | | | |
|-----|---|------------------------|--------|-----|-----------|-------|----|------|-----|----|----|-----------------|---|---|
| 142 | and Matoor on Kariyad- Airport-Matoor road | ERNAKULAM | RURAL | 255 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | | | | 147 | | DC | 30 | 25 | | | 30 | Draw of | | |
| 143 | KUREEPUZHA MARINE | KOLLAM | RURAL | 147 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | On RHS of Kuruppumpady- | | | | | | | | | | | | | |
| | Kottapady-Uppukandam | | | | | | | | | | | _ , | | |
| 144 | Road within 3km from Kottapady | ERNAKULAM | RURAL | 120 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | WITHIN 2KM FROM | | | | | | | | | | | | | |
| | WAGAMON TOWN(ON | | | | | | | | | | | | | |
| | PULIKKANAM -ELAPPARA ROAD)ON LHS TOWARDS | | | | | | | | | | | Draw of | | |
| 145 | ELAPPARA VAGAMON(NOT ON STATE | IDUKKI | RURAL | 260 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 146 | HIGHWAY) | IDUKKI | RURAL | 255 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | On RHS of Nellad to | | | | | | | | | | | | | |
| 147 | Mannoor road within 2km from Nellad junction | ERNAKULAM | RURAL | 180 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 148 | Kurachilacode | ERNAKULAM | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 140 | | ENWARDE WIT | HOIDIE | 200 | OI EII | 50 | 30 | - 23 | 750 | | 30 | 2013 | | - |
| | oravackal on manarcaud- kidangoor rd within 2kms | | | | | | | | | | | Draw of | | |
| 149 | of oravackal jn | KOTTAYAM | RURAL | 155 | ST PH | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 150 | KANJIKUZHI ON EDALAKAD CUTTING | IDUKKI | RURAL | 150 | OBC PH | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 151 | CANAL ROAD | ERNAKULAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 152 | SURYANELLI(ON MUNNAR-THENI ROAD) | IDUKKI | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 153 | Konnithazham Village | PATHANAMTHI TTA | RURAL | 200 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 155 | BETWEEN | IIA | NORAL | 200 | OBC | DC DC | 30 | 23 | 730 | 12 | 30 | LOIS | | |
| | VANDANPATHAL JUNCTION AND | | | | | | | | | | | | | |
| | KORUTHODU(ON MUNDAKKAYAM- | | | | | | | | | | | Draw of | | |
| 154 | KORUTHODU ROAD) | KOTTAYAM | RURAL | 120 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | BETWEEN CHANAGANSERY AND | | | | | | | | | | | | | |
| | NALUKODY (ON CHANGANASERY - | | | | | | | | | | | Draw of | | |
| 155 | KAVIYOOR ROAD) | KOTTAYAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| 156 | Mankulam | IDUKKI | RURAL | 170 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | WITHIN 3KM OF CHAMAMPATHAL | | | | | | | | | | | | | |
| | JUNCTION (ON | | | | | | | | | | | _ , | | |
| 157 | KODUNGOOR-MANIMALA ROAD) | KOTTAYAM | RURAL | 120 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| | BETWEEN VARIKKANI JUNCTION AND | | | | | | | | | | | | | |
| | MANJALARUVI (ON | | | | | | | | | | | | | |
| 158 | MUNDAKKAYAM - ERUMELI ROAD) | KOTTAYAM | RURAL | 140 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | WITHIN 2 KM FROM PADUA JUNCTION (PADUA | | | | | | | | | | | | | |
| 159 | -CHEMPILAVU - CHERPUNKAL ROAD) | KOTTAYAM | RURAL | 110 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 133 | Alappad junction - | KOTTATAW | NORAL | 110 | OFEN | DC DC | 30 | 23 | 730 | 12 | 30 | | | 4 |
| 160 | venginissery centre (via paralam road) | THRISSUR | RURAL | 80 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | Annamanada junction towards valiyaparambu | | | | | | | | | | | Draw of | | |
| 161 | road | THRISSUR | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | WITHIN 3KM FROM NEELOOR JUNCTION(ON | | | | | | | | | | | | | |
| 162 | KOLLAPILLY -MUTTOM ROAD) | KOTTAYAM | RURAL | 148 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| | WITHIN 2KM FROM PAZHAMALA JUNCTION | | | | | | | | | | | | | |
| | (ON RAMAPURAM - | | | | | | | | | | | Draw of | | |
| 163 | KUNINJI-MARIKA ROAD) | KOTTAYAM | RURAL | 100 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 164 | Thottapuzhacherry Village (Not on State Highway) | PATHANAMTHI TTA | RURAL | 190 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 104 | BETWEEN KORATTY & | IIA | KUKAL | 150 | OPEN CC 1 | DC DC | 30 | 23 | 730 | 12 | 30 | | | 4 |
| 165 | VALOOR(ON VALOOR KORATTY ROAD) | THRISSUR | RURAL | 90 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| | Adat(between Adat junction & muthuvara | | | | | | | | | | | | | |
| 100 | junction on adat- | TUDICCUO | B. 184 | | OPEN | 55 | 30 | 35 | 750 | 13 | 30 | Draw of | - | |
| 166 | muthuvara road) | THRISSUR | RURAL | 60 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 167 | Amballoor -Varakkara | THRISSUR | RURAL | 84 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | WITHIN 3KM FROM VIZHIKATHODU JUNCTION | | | | | | | | | | | | | |
| | (ON ERUMELY - | | | | | | | | | | | Draw of | | |
| 168 | PONKUNNAM RAOD) Kozhuvanal - Mutholy- | KOTTAYAM | RURAL | 230 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 169 | Kozhuvanal road Aiyappankuzhy(On | KOTTAYAM | RURAL | 143 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 470 | Mannanthala- Kallayam | THIRUVANANT | B | 200 | 00511 | 5.0 | 30 | 3.5 | 7 | 43 | 20 | Draw of | - | |
| 170 | Junction) Between Pothencode Jn | HAPURAM THIRUVANANT | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 171 | and Vembayam Jn | HAPURAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 172 | KAMBILIKANDAM | IDUKKI | RURAL | 150 | SC CC 1 | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | BETWEEN RAMAPURAM TOWN & PALAVELY | | | | | | | | | | | | | |
| | JUNCTION(KOOTHATUKUL AM -RAMAPURAM | | | | | | | | | | | | | |
| 173 | ROAD)ON LHS TOWARDS RAMAPURAM | KOTTAYAM | RURAL | 210 | OBC CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 1/5 | Between Neyyatinkara Jn | KUTTATAM | NUKAL | 210 | OBCCC1 | DC DC | 30 | 25 | /50 | 12 | 30 | LOIS | 5 | 3 |
| | and Poovar Jn (On the Neyyatinkara- Poovar | THIRUVANANT | | | | | | | | | | Draw of | | |
| 174 | Road) Karimugal to Pallikara on | HAPURAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 175 | RHS | ERNAKULAM | RURAL | 220 | OPEN PH | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | | | | | | | | | | | | | | |

| | 1 | | | | İ | 1 | | , | | | | , , | | |
|-----|---|--------------------------|---------|-----|-----------|-------|----|------|-----|----|----|-----------------|---|---|
| 176 | MUNAMBAM (MARINE LOCATION) | ERNAKULAM | RURAL | 80 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 170 | On Mookkannoor to | Elit villo Eliti | NOTELL | | 30 | CIS | 30 | -23 | 750 | | | 2013 | | |
| | Ezhattumugham main | | | | | | | | | | | . | | ı |
| 177 | road within 5km from Mookkannur | ERNAKULAM | RURAL | 180 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 277 | Balaramapuram (within 3 | Elit villo Eliti | HOIDE | 100 | 000 | 50 | 30 | -23 | 750 | | 50 | 200 | | |
| | km of Balaramapuram on | | | | | | | | | | | | | ı |
| 178 | Balaramapuram-Kattakada road) | THIRUVANANT HAPURAM | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 170 | Between Kaippattoor and | TIAI CITAIVI | KOKAL | 200 | OFEN | DC DC | 30 | 23 | 730 | 12 | 30 | LOUS | | |
| | Manjapra on Kalady- | | | | | | | | | | | | | ı |
| | Manjapra Road within 3 km from Chandrapura | | | | | | | | | | | Draw of | | ı |
| 179 | junction | ERNAKULAM | RURAL | 215 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | | | | | | | | | | | | | | i |
| | Between Kattakada Jn and Kuttichal Jn on Kattakada - | THIRUVANANT | | | | | | | | | | D | | ı |
| 180 | Aryanad Road | HAPURAM | RURAL | 120 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | Ooruttambalam (On | | | | | 5.0 | | | | - | | | | |
| | Balaramapuram- | THIRUVANANT | | | | | | | | | | Draw of | | ı |
| 181 | Kattakada Road) Olathanni (within 2km of | HAPURAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Olathanni Jn. on | | | | | | | | | | | | | ı |
| | Neyyattinkara-Poovar | THIRUVANANT | | | | | | | | | | Draw of | | ı |
| 182 | road) | HAPURAM | RURAL | 180 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Within 3KM from | | | | | | | | | | | | | ı |
| | Meenambalam Junction | | | | | | | | | | | Draw of | | ı |
| 183 | on Paripally - Paravur Road CHATHANAD TO | KOLLAM | RURAL | 250 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | PERUMPADANNA BUS | | | | | | | | | | | Draw of | | |
| 184 | STOP | ERNAKULAM | RURAL | 135 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 185 | Kadukutty (Muringoor to | THRISSUR | RURAL | 180 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 192 | Kadukutty on LHS) Ezhumattoor (between | HIRIOSUK | NURAL | 100 | 31. | CFS | 30 | 25 | 750 | U | U | LUIS | U | |
| | Narakathani & Paduthodu | PATHANAMTHI | | | | | | | | | | Draw of | | |
| 186 | Jn.) | TTA | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Between Sreemoolanagaram and | | | | | | | | | | | | | |
| | Desom on Kalady to Aluva | | | | | | | | | | | Draw of | | |
| 187 | main Road | ERNAKULAM | RURAL | 110 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | On Kuruppumpady to Panamkuzhy main Road | | | | | | | | | | | | | |
| | between Kombanad and | | | | | | | | | | | Draw of | | ı |
| 188 | Pandikadu Bus Stop | ERNAKULAM | RURAL | 105 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 189 | BISON VALLEY | IDUKKI | RURAL | 245 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 103 | MALANADA(ON | IDOKKI | KOKAL | 243 | 30 | CIS | 30 | 2.5 | 730 | | U | LOUS | U | |
| | CHAKKUVALLY- | | | | | | | | | | | | | ı |
| 190 | MALANADA-EDAKKAD ROAD) | KOLLAM | RURAL | 110 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 150 | none) | PATHANAMTHI | 1101012 | 110 | OI EN | 50 | 30 | - 23 | 750 | | 50 | Draw of | | |
| 191 | Mannady - Adoor | TTA | RURAL | 150 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 192 | Killimangalam on Cheruthuruthy road | THRISSUR | RURAL | 60 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | Keezharoor Village , | THIRUVANANT | | | | | | | | | | Draw of | | |
| 193 | Kattakada Taluk KIZHAKAMBALAM TO | HAPURAM | RURAL | 60 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | EDATHALA ON ALUVA | | | | | | | | | | | Draw of | | ı |
| 194 | PUKKATUPADY ROAD | ERNAKULAM | RURAL | 100 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 195 | ACHAPPAN KAVALA TO PATHAM MILE | ERNAKULAM | RURAL | 100 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 195 | Between Cherthala andÂ | ERNAKULAWI | KUKAL | 100 | OBC | DC DC | 30 | 25 | 750 | 12 | 30 | Draw of | 5 | |
| 196 | Thannermukkam | ALAPPUZHA | RURAL | 120 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Krishnapuram - | | | | | | | | | | | | | ı |
| 197 | Mavelikara road (outside municipal) | ALAPPUZHA | RURAL | 90 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | | PATHANAMTHI | | | | | | | | | | Draw of | | |
| 198 | Ayroor Village | TTA | RURAL | 90 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | Choolissery Village(On | | | | | | | | | | | Draw of | | |
| 199 | Kottekkad -Mundur Road) | THRISSUR | RURAL | 60 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | CHANGANKULANGARA to | | BUE :: | | 0 | | | | 7 | 4- | 2- | Draw of | | |
| 200 | KAMBISSERI CHITTUMOOLA ON | KOLLAM | RURAL | 110 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | BHARANIKKAVU- | | | | | | | | | | | Draw of | | |
| 201 | KUNDARA ROAD | KOLLAM | RURAL | 154 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Kallur(between kallur centre and amballor on | | | | | | | | | | | Draw of | | |
| 202 | amballurroad) | THRISSUR | RURAL | 60 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | NADAKKAV TO | | | | | | | | | | | Draw of | | |
| 203 | ARAKKUNNAM | ERNAKULAM THIRUVANANT | RURAL | 100 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 204 | Edava | HAPURAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | | THIRUVANANT | | | | | | | | | | Draw of | | |
| 205 | Vilappilsala to Kattakkada NEDUVATHOOR - | HAPURAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 206 | PUTHOOR | KOLLAM | RURAL | 120 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | | THIRUVANANT | | | | | | | | | | Draw of | | |
| 207 | Balaramapuram to Poovar | HAPURAM | RURAL | 120 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | Ponganadu (On Kilimanoor | THIRUVANANT | | | | | | | | | | Draw of | | |
| 208 | to Kallambalam Road) | HAPURAM | RURAL | 100 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Chullimanoor to | THIRUVANANT | | | | | | | | | | Draw of | | |
| 209 | Venjaramoodu not on SH | HAPURAM | RURAL | 180 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | | | | | | | | | | | | | | |
| | Promkavu (Betweem | PATHANAMTHI | | | | | | | | | | Draw of | | |
| 210 | Pramadam Jn. Poomkavu Jn. on Pramadam | TTA | RURAL | 170 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| | | | | - | | | | | | - | | 1 | | |
| | Mahamahha (2003 20 | | | | | | | | | | | | | |
| | Nalumukku (within 3 km of Nalumukku on Attingal- | | | | | | | | | | | | | |
| | Chirayinkeezhu road | THIRUVANANT | | | | | | | | | | Draw of | | |
| 211 | towards chirayinkeezhu) | HAPURAM | RURAL | 120 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | Kunchithanny(On Anachal- | | | | | | | | | | | Draw of | | |
| 212 | Kunchithanny main Road) | IDUKKI | RURAL | 344 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| | | | | | | | | | | | | | | |

| | BETWEEN KAYAMKULAM FISHING | | | | | | | | | | | | | . |
|-------------------|---|------------------------|---|------------|--------------|----------|----------------|----------|-------------|----------|----------|----------------------------|----------|-----|
| | HARBOUR&POOKKOOTTU | | | | | | | | | | | | | . |
| | TEMPLE JN ON AZHEEKKAL-AMRITAPURI- | | | | | | | | | | | Draw of | | . |
| 213 | PANICKERKADAVU ROAD KUNNIKKODE to | KOLLAM | RURAL | 140 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | PATHANAPURAM (Not On | | | | | | | | | | | Draw of | | . |
| 214 | Highway) | KOLLAM | RURAL | 167 | OPEN CC 1 | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 215 | AZHEEKAL (MARINE) | KOLLAM PATHANAMTHI | RURAL | 300 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 216 | Vaipur Village | TTA | RURAL | 170 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 2 |
| 217 | Manakala Village (Not on National Highway) | PATHANAMTHI TTA | RURAL | 110 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| 218 | Venkode(Vattapara- Nedumangad road) | THIRUVANANT HAPURAM | RURAL | 200 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 219 | Pallichal- Vizhinnjam Road | THIRUVANANT HAPURAM | RURAL | 160 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of | 5 | 4 |
| | Peringanad Village (Not on | PATHANAMTHI | | | | | | | | | | Lots Draw of | | |
| 220 | State Highway Road) Perunad Village (Not on | TTA PATHANAMTHI | RURAL | 240 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 221 | National Highway) Between Mukkola Jn - | TTA | RURAL | 150 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| | Balaramapuram Jn on | | | | | | | | | | | _ , | | . |
| 222 | Mukkola- Balaramapuram Road | THIRUVANANT HAPURAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 223 | Ranni - Mallapally Road | PATHANAMTHI TTA | RURAL | 190 | OPEN CC 2 | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 224 | Konni to Chandanapalli | PATHANAMTHI TTA | RURAL | 100 | OBC CC 1 | DC | 30 | 25 | 750 | | 30 | Draw of | 5 | 3 |
| 224 | · | IIA | RUKAL | 100 | OBCCCI | DC | 30 | 25 | /50 | 12 | 30 | Lots | | |
| | WITHIN 3KM FROM MOONNILAVU JUNCTION | | | | | | | | | | | | | |
| 225 | (ON AMBARA- MANKOMBU ROAD) | KOTTAYAM | RURAL | 210 | SC CC 1 | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| | Between Nariyapuram Jn. | | | -10 | 30 00 1 | | 30 | | , , , , | - | | | | |
| | & Thumpamon Jn. on Nariyapuram-Thumpamon | PATHANAMTHI | | | | | | | | | | Draw of | | . |
| 226 | Road | TTA | RURAL | 110 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| 227 | Choonad Village on | V0.1.4.4 | | 430 | 00511 | 20 | 20 | 25 | 750 | 43 | 20 | Draw of | _ | |
| 227 | Choonad - Thazhava Road | KOLLAM | RURAL | 130 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | BETWEEN VANCHIPURA CENTRE AND | | | | | | | | | | | | | . |
| 228 | CHAMAKKALA CENTRE(ON ERIYAD-CHETTUVA ROAD) | THRISSUR | RURAL | 110 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 3 |
| | Mala Town(Within City | | | | | | | | | | | Draw of | | |
| 229 | limits , not on SH 51) | THRISSUR | RURAL | 180 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 230 | Mylavila - Ayroor KEEKOZHOOR ON RANNI- | KOLLAM | RURAL | 150 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | KEEKOZHOOR- | PATHANAMTHI | | | | | | | | | | Draw of | _ | |
| 231 | KOZHENCHERRY ROAD VELLOOR (VELLOOR - | TTA | RURAL | 120 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 4 |
| | VETTIKKATTUMUKKU ROAD)ON LHS TOWARDS | | | | | | | | | | | Draw of | | . |
| 232 | VELLOOR | KOTTAYAM | RURAL | 140 | OBC | DC | 30 | 25 | 750 | 12 | 30 | Lots | 5 | 3 |
| 233 | KOTTANAD VILLAGE | PATHANAMTHI TTA | RURAL | 155 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| | Between Amballur Centre | | | | | | | | | | | | | . |
| 234 | and Varantarapally Centre on Chimmini dam Road | THRISSUR | RURAL | 130 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 254 | Between Chundale and | THRISSOR | KOKAL | 130 | 31 | CIS | 30 | 23 | 730 | 0 | 0 | 2013 | | |
| 235 | Kalpetta on NH766/old NH212 | WAYANAD | REGULAR | 300 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | Amminikkad to | | | | | | | | | | | Draw of | | |
| 236 | Karingalathani on NH966 Kuyiloor to | MALAPPURAM | REGULAR | 150 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Lots | 15 | 4 |
| | Perumannu(Irrity Irukkur | | | | | | | | | | | Draw of | | . |
| 237 | road) Between Malaparamba | KANNUR | REGULAR | 195 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| 238 | and Pooladikunnu on NH 66 | KOZHIKODE | REGULAR | 300 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 230 | | ROZIIIRODE | REGOLAR | 300 | OI EN | cc | 33 | 45 | 13/3 | 23 | 10 | Didding | | |
| 239 | Between Thondiyad and Malaparamba on NH 66 | KOZHIKODE | REGULAR | 300 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 240 | ANANGOOR ON NH | KASARAGOD | REGULAR | 150 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| | Pappinisseri to Kannapuram(Pilathara | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | | | | | | · · · | | | |
| 241 | Pappinisseri road) | KANNUR | REGULAR | 115 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 3 |
| 242 243 | CHALINGAL ON NH CHUNNAMBUTHARA | KASARAGOD PALAKKAD | REGULAR REGULAR | 200 150 | OPEN OPEN | CC CC | 35 20 | 45 20 | 1575 400 | 25 25 | 10 10 | Bidding Bidding | 30 30 | 5 |
| 244 | BEETWEEN OTTAPALAM TO PALAKKAD | PALAKKAD | REGULAR | 250 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| 245 | Ezhilode (NH66) | KANNUR | REGULAR | 185 | OPEN | CC | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 246 | ALATHUR GRAMAPANCHAYAT | PALAKKAD | REGULAR | 120 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Between Koylandi and | | | | | | | | | | | Draw of | | |
| 247 | Payyoli on NH66/old NH 17 | KOZHIKODE | REGULAR | 300 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Lots | 15 | 4 |
| 248 | AMBALATHARA TO ERIYA ON SH 56 | KASARAGOD | REGULAR | 230 | OPEN CC 1 | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | FROM ELAVANCHERY TO KAMMANNATHRA ON SH | | | | | | - | | | | | | | |
| 249 | 58 | PALAKKAD | REGULAR | 100 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 250 | Areacode to Kuttooli (on SH34) | MALAPPURAM | REGULAR | 105 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 251 | between Lakkidi & Vythiri ON NH766 | WAYANAD | REGULAR | 263 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| 252 | From Kozhinjampara to | PALAKKAD | REGULAR | | OPEN | СС | 35 | 35 | | 25 | | | | 5 |
| | Gopalapuram in SH 52 | | | 130 | | | | | 1225 | | 10 | Bidding | 30 | |
| 253 | KALLADIKODE,ON NH966 BETWEEN | PALAKKAD | REGULAR | 195 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | PADINJARATHARA- | | | | | | | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 25/1 | TARIIVANA | WANNIND | BECHIVE | | | | | | | | | | | 2 |
| 254 | TARUVANA Between Payyoli and | WAYANAD | REGULAR | 126 | SC | CFS | 35 | 33 | 1223 | 0 | | | | |
| 254 255 256 | | KOZHIKODE | REGULAR REGULAR | 300 180 | OBC OPEN | DC CC | 35 35 20 | 45 20 | 1575 | 25 25 | 75 10 | Draw of Lots Bidding | 15 30 | 4 5 |

| | ı | 1 | | | | | | | | | | | | |
|------------|--|------------------------|--------------------|------------|--------------|----------|----------|----------|--------------|----------|----------|--------------------|----------|-----|
| | CHAVASSERY POST OFFICE | | | | | | | | | | | Draw of | | |
| 257 | TO NARAYANPARA CHUDALA TO PARIYARAM | KANNUR | REGULAR | 205 | OPEN CC 2 | DC | 35 | 35 | 1225 | 25 | 60 | Lots Draw of | 15 | 5 |
| 258 | (NH 66) | KANNUR | REGULAR | 230 | OBC CC 1 | DC | 35 | 45 | 1575 | 25 | 75 | Lots | 15 | 4 |
| 259 | Dharmadom to Thalashery | KANNUR | REGULAR | 250 | SC CC 1 | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 3 |
| 260 | Kanhirangad(Thaliparamab a Alakode ro | KANNUR | REGULAR | 200 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding | 30 | 5 |
| 261 | KANNUR TOWN | KANNUR | REGULAR | 250 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 262 | Between Ponnani and Veliancode on NH66 | MALAPPURAM | REGULAR | 160 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| 263 | EDAKKAD TO DHARMADOM | KANNUR | REGULAR | 200 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| | KATTAMPALLY TO | | | | | | | | | | | | | |
| 264 | NARATH (KATTAMPALY- MAYYIL ROAD) | KANNUR | REGULAR | 145 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding | 30 | 5 |
| 265 | Kozhichena to Kottakkal on NH66 | MALAPPURAM | REGULAR | 150 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 266 | | KOZHIKODE | REGULAR | 150 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Draw of Lots | 15 | 4 |
| 267 | Beypore KOZHINJAMPARA | PALAKKAD | REGULAR | 112 | OPEN | CC | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 268 | Edakkad to Thaze Chovva | KANNUR | REGULAR | 230 | ST | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Maruthayi (Mattanur - | | | | | | | | | | | | | |
| 269 | Maruthayi -Irukkur road) | KANNUR | REGULAR | 215 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding | 30 | 5 |
| 270 | Chala | KANNUR | REGULAR | 130 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Draw of Lots | 15 | 4 |
| 271 | Edarikode to Kuttippala on SH71 | MALAPPURAM | REGULAR | 120 | OPEN CC 1 | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | From Athikode to | | | | | | | | | | | Draw of | | |
| 272 | Kozhinjampara in SH 52 Eripuram(Pilathara | PALAKKAD | REGULAR | 130 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Lots Draw of | 0 | 3 |
| 273 | Pappinisseri road) Mattanur to Chavassery | KANNUR | REGULAR | 115 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Lots | 15 | 4 |
| 274 275 | (SH 30) MENONPARA ON SH 26 | KANNUR PALAKKAD | REGULAR REGULAR | 205 100 | OPEN OPEN | CC CC | 35 35 | 35 35 | 1225 1225 | 25 25 | 10 10 | Bidding Bidding | 30 30 | 5 |
| 2/3 | | FALANKAU | REGULAK | 100 | UPEN | CC CC | 33 | 33 | 1225 | 25 | 10 | biduing | 30 | _ 5 |
| | From Chungathara to Edakkara(Within 4 Kms | | | | | | | | | | | Draw of | | |
| 276 | from Chungathara)on SH28 | MALAPPURAM | REGULAR | 130 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| | From Kolathur to | | | | | | | | | | | | | |
| 277 | Puthanangadi(Within 5km from Kolathur)on SH73 | MALAPPURAM | REGULAR | 123 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 278 | Muliyar NADUVANNUR IN | KASARAGOD | REGULAR | 150 | OPEN | CC | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 279 | BALUSSERI BLOCK | KOZHIKODE | REGULAR | 200 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding | 30 | 5 |
| 280 | From Kollengode to Govindapuram SH 58 | PALAKKAD | REGULAR | 110 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| 281 | From Mangalampalam to Chittilamchery SH 58 | PALAKKAD | REGULAR | 110 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| | | | | | | | | | | | | | | |
| 282 | Naduvil to Pulikurumba | KANNUR | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 283 | NH 544 - RHS BETWEEN Alathur to Mangalampalam | PALAKKAD | REGULAR | 200 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | From Puthanangadi to | | | | | | | | | | | | | |
| | Angadipuram(4 Kms from | | | | | | | | | | | Draw of | | |
| 284 | Puthanangadi)on SH73 | MALAPPURAM | REGULAR | 120 | OBC PH | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| 285 | Kadachira Between Kuthuparamba to Thottada | KANNUR | REGULAR | 190 | SC PH | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 203 | NH 966 - | TO WITTON | MEGOD III | 130 | 50111 | 0.0 | 33 | - 55 | 1223 | - | | 2003 | - ŭ | |
| 286 | MUTTIKULANGARA to MUNDUR | PALAKKAD | REGULAR | 180 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | ON NH966 KALMANDAPAM JN. TO | | | | | | | | | | | | | |
| 287 | KANJIKULAM | PALAKKAD | REGULAR | 260 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 288 | Idimuzhikkal to Kakkanchery on NH66 | MALAPPURAM | REGULAR | 240 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| | Thiruvangad on Thalassery | | | | | | | | | | | | | |
| 289 | to Kodiyeri road KALLIASSERI TO | KANNUR | REGULAR | 215 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 290 | DHARMASHALA (NH 66) | KANNUR | REGULAR | 235 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Lots | 0 | 3 |
| 291 | Ullikkal at Kunnoth to Payyavoor road SH 59 | KANNUR | REGULAR | 220 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 292 | Kadoor | KANNUR | REGULAR | 160 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Draw of Lots | 15 | 4 |
| 232 | URUVACHAL at | | | 100 | 555 | - 50 | 30 | | , , , , | | | 2013 | | |
| 293 | Kothuparamba-Mattanur road | KANNUR | REGULAR | 260 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 294 | Kamanam to Pandikkad on SH73 | MALAPPURAM | REGULAR | 130 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 295 | KARATTUVAYAL on NH | KASARAGOD | REGULAR | 220 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| 233 | Poonthi Road (on Kims | | | | 555 | 50 | | | | | | 2013 | | |
| | Hospital-Kumarapuram road within 3 KM from | THIRUVANANT | | | | | | | | | | | | |
| 296 | Kims Hospital) | HAPURAM | REGULAR | 400 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 297 | Kasargod Town Karuvanchal(Thaliparamab | KASARAGOD | REGULAR | 175 | OPEN CC 1 | DC | 20 | 20 | 400 | 25 | 45 | Lots Draw of | 15 | 5 |
| 298 | a Alakode road) | KANNUR | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| 299 | KEEZHUR KUNNU TO IRRITY (SH 30) | KANNUR | REGULAR | 205 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| | BETWEEN MEVARAM AND AYATHIL ON KOLLAM | | | | | | | | | | - | | | |
| 300 | BYPASS ROAD | KOLLAM | REGULAR | 309 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 301 | On the Ulloor - Akkulam Road | THIRUVANANT HAPURAM | REGULAR | 280 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 302 | Kohinoor to Padikkal on NH66 | MALAPPURAM | REGULAR | 170 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| | | , | | - | | - | | | | | - | Draw of | | |
| 303 | Manimooly to Aanamari stretch on SH 28 | MALAPPURAM | REGULAR | 130 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| | Between Vattappara Jn and Vembayam Jn on MC | THIRUVANANT | | | | | | | | | | | | |
| 304 | road Between Kazhakootam to | HAPURAM | REGULAR | 250 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 305 | Kovalam on the NH-66(Old | THIRUVANANT | DECI | 350 | ODEN | | 25 | 45 | 1575 | 35 | 10 | D:: | 30 | _ |
| 305 | NH-47) | HAPURAM | REGULAR | 250 | OPEN | CC | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |

| | Karunagapally on Karunagapally- Sasthamkotta Road (Within 2KM from | | | | | | | | | | | | | |
|------------|---|---------------------------|--------------------|------------|-------------|-----------|----------|----------|--------------|----------|----|----------------------------|----------|---|
| 306 | Karunagapally Junction) Nilambur to Thottekkad | KOLLAM | REGULAR | 215 | OPEN | cc | 20 | 20 | 400 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 307 | on SH39 Padiyoor(Irrity Irukkur | MALAPPURAM | REGULAR | 140 | OBC CC 1 | DC | 35 | 35 | 1225 | 25 | 60 | Lots Draw of | 15 | 4 |
| 308 | road) | KANNUR | REGULAR | 185 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| 309 | PALLIKKUNNU TO VALAPATTANAM BRIDGE | KANNUR | REGULAR | 240 | OPEN PH | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 5 |
| 310 | Malappuram to Oorakam on SH 72 | MALAPPURAM | REGULAR | 170 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| 311 | ANCHALUMOOD ON NH PARIYARAM TO | KOLLAM | REGULAR | 192 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 312 | PILATHARA (NH 66) Pallichal(on the old NH-47 | KANNUR | REGULAR | 260 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Lots | 0 | 3 |
| 313 | between Pravichambalam Jn and Balaramapuram Jn) | THIRUVANANT HAPURAM | REGULAR | 200 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 314 | MANKARA PARAVUR ON MAJOR | PALAKKAD | REGULAR | 120 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Lots | 15 | 4 |
| 315 | ROADS Between Kazhakootam Jn and Sreekaryam Jn on OLD | KOLLAM | REGULAR | 170 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 316 | NH NH | HAPURAM | REGULAR | 190 | OPEN | сс | 20 | 20 | 400 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 317 | PATTANUR | KANNUR | REGULAR | 180 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 3 |
| 318 | Musliyarangadi to Valluvambram on NH966 Podiyadi to Kadapra on SH- | MALAPPURAM PATHANAMTHI | REGULAR | 205 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| 319 | 6 | TTA | REGULAR | 190 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 320 | Perinthalmanna to pattikkad on SH73 | MALAPPURAM | REGULAR | 140 | OPEN CC 1 | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| 321 | Perumparamba(Irrity Irukkur road) | KANNUR | REGULAR | 195 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 322 | NH 544 - LHS BETWEEN Alathur to Mangalampalam | PALAKKAD | REGULAR | 200 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| | Karunagappally (between Lalaji jn. & Thurayil jn. on Lalaji jn Paniker kadavu | | | | | | | | | | | | | |
| 323 | road) | KOLLAM | REGULAR | 148 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | Between Marampally junction & Palakkatuthazham Junction on Aluva to | | | | | | | | | | _ | | | |
| 324 | Perumbavoor main Road Oduvally(Thaliparamaba | ERNAKULAM | REGULAR | 245 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 325 | Alakode road) Peruvemparamba(Irrity | KANNUR | REGULAR | 200 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Lots Draw of | 15 | 4 |
| 326 | Irukkur road) BETWEEN KUNDARA AND KOTTARAKKARA ON | KANNUR | REGULAR | 195 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| 327 | NH744(OLD NH 208) Erumeli town jn to | KOLLAM | REGULAR | 180 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 328 | Kanjirapally road within 2KM PALAKKAD TO | KOTTAYAM | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 329 | KODUVAYUR ROAD SH 53 BETWEEN | PALAKKAD | REGULAR | 170 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Lots | 15 | 4 |
| 330 | THRIKKADERI 2 VILLAGE TO CHERPLASSERY KARUNAGAPALLY - | PALAKKAD | REGULAR | 120 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 331 | KAVANAD ON NH66 | KOLLAM | REGULAR | 185 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 332 | KARINGACHIRA TO CHOTANIKARA JUNCTION | ERNAKULAM | REGULAR | 230 | OPEN | cc | 30 | 25 | 750 | 25 | 10 | Bidding | 30 | 5 |
| | PERINTHALMANNA(Within Muncipal Limits,Not on | | | | | | | | | | | Draw of | | |
| 333 | NH/SH) THALIPARAMABA TO | | REGULAR | 190 | OBC | DC | 20 | 20 | 400 | 25 | 45 | Lots Draw of | 15 | 4 |
| 334 | CHUDALA (NH 66) KALAMASSERY TO HMT JUNCTION ON SEAPORT | KANNUR | REGULAR | 230 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Lots | 0 | 3 |
| 335 | AIRPORT ROAD | ERNAKULAM | REGULAR | 220 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 336 | Perumannu to Irukkur(Irrity Irukkur road) | KANNUR | REGULAR | 195 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| 337 | IRIMPANAM JUNCTION TO KAKKANAD ON SEAPORT AIRPORT ROAD | ERNAKULAM | REGULAR | 210 | OPEN | сс | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | BETWEEN PONGAM TO CHALAKUDY ON LHS OF | | | | | | | | | | | | | |
| 338 | NH 544 Thavam(Pilathara | THRISSUR | REGULAR | 460 | OPEN | CC | 35 | 45 | 1575 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 339 | Pappinisseri road) Pookottumpadam to | KANNUR | REGULAR | 115 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 3 |
| 340 341 | kallamoola on SH39 Between Aluva and Angamaly on NH47/544 | MALAPPURAM ERNAKULAM | REGULAR REGULAR | 100 410 | OBC OPEN | DC CC | 35 35 | 35 45 | 1225 1575 | 25 25 | 10 | Lots | 15 30 | 5 |
| | Between Muvattupuzha and Kothamangalam on | | 22311 | | | | | | | | | | | |
| 342 | NH49 | ERNAKULAM | REGULAR | 200 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 343 | Pookottur to Malappuram on NH966 | KANNUR MALAPPURAM | REGULAR REGULAR | 205 | SC | CFS DC | 35 | 35 | 1225 1575 | 25 | 75 | Draw of | 0 | 3 |
| 344 345 | on NH966 Kodungallur -Mathilakam on NH 17 | THRISSUR | REGULAR | 300 | OBC OPEN | CC | 35 35 | 45 45 | 1575 | 25 | 10 | Lots | 15 30 | 5 |
| 346 | Valapattanam Bridge to Velapuram | KANNUR | REGULAR | 230 | OPEN CC 1 | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 5 |
| 347 | Pulikkal to Kondotty on NH 966 VELAPURAM TO | MALAPPURAM | REGULAR | 323 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots Draw of | 15 | 4 |
| 348 | KALLIASSERI (NH 66) Between Kodungallur and | KANNUR | REGULAR | 250 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Lots | 0 | 3 |
| 349 | Anapuzha on SH 51 EDAPALLY TO ALUVA ON | THRISSUR | REGULAR | 300 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 350 | LHS | ERNAKULAM | REGULAR | 200 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |

| 351 | V K Padi to Kooriyad on NH66 | MALAPPURAM | REGULAR | 150 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
|-----|---|------------------------|------------|-----|-----------|-------|----|----|------|----|-----|-----------------|----|-------|
| 331 | Between 14th Mile | IVIADAI I OIVAIVI | REGOLAR | 150 | OBC | DC DC | 33 | 43 | 13/3 | 23 | ,,, | | 13 | |
| 352 | Kurisadi and Adimali on NH85 | IDUKKI | REGULAR | 175 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 332 | | IDOKKI | REGOLAR | 173 | 30 | CIS | 20 | 20 | 400 | 0 | | 2013 | 0 | |
| | Alappuzha to Cherthala on LHS (NH 66) (araattuvazhy | | | | | | | | | | | | | I |
| 353 | jn to kalithattu jn) | ALAPPUZHA | REGULAR | 200 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | Nellikunnu to Nadathara | | | | | | | | | | | | | I |
| | (on nellikunnu-nadathara | | | | | | | | | | | | | I |
| 354 | road,not on nh) | THRISSUR | REGULAR | 200 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 355 | Vailathur to Tirur on SH71 | MALAPPURAM | REGULAR | 120 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| 356 | Between Kolencherry & Muvattupuzha on NH85 | ERNAKULAM | REGULAR | 194 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 330 | iviuvattupuzna on ivnos | EKNAKULAWI | REGULAR | 194 | OPEN | CC CC | 33 | 45 | 15/5 | 25 | 10 | Віааіпд | 30 | |
| 357 | Kaithavana Jn to Alpy boat Jetty (via NS BOSE road) | ALAPPUZHA | REGULAR | 230 | SC CC 1 | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 337 | ATHANI TO NORTH | ALAFFUZHA | REGULAR | 230 | 30 00 1 | Crs | 20 | 20 | 400 | U | 0 | Draw of | U | |
| 358 | PARAVUR VIA MANJALY Between Vengalloor and | ERNAKULAM | REGULAR | 140 | OPEN CC 2 | DC | 30 | 25 | 750 | 25 | 45 | Lots | 15 | 5 |
| | Paingottoor on SH in | | | | | | | | | | | Draw of | | I |
| 359 | Idukki district KUMBALAM TOLL PLAZA | IDUKKI | REGULAR | 150 | OBC CC 1 | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| | TO KUNDANOOR | | | | | | | | | | | | | l |
| 360 | JUNCTION ON LHS | ERNAKULAM | REGULAR | 200 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 361 | Pullad to Puramattam (on SH 9) | PATHANAMTHI TTA | REGULAR | 250 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 252 | Valanchery to kuttipuram | | DEC. 11 AD | 450 | 000 | | 25 | 45 | 4575 | 25 | 75 | Draw of | 45 | |
| 362 | on NH66 Between Thodupuzha | MALAPPURAM | REGULAR | 160 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Lots | 15 | 4 |
| | KSRTC Junction & Muttom on state highway (within | | | | | | | | | | | | | l |
| | 5km from Muttom | | | | | | | | | | | | | |
| 363 | Junction) KUNDANOOR TO PETTAH | IDUKKI | REGULAR | 175 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 364 | ON RHS | ERNAKULAM | REGULAR | 200 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | Vettichira to kavumpuram | | REGULAR | | | | | | | | | Draw of | | |
| 365 | on NH66 | MALAPPURAM | | 170 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Lots Draw of | 15 | 4 |
| 366 | Noornad to Adoor BETWEEN | ALAPPUZHA | REGULAR | 130 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| | MUVATTUPUZHA AND | | | | | | | | | | | | | |
| 367 | ADOOPARAMBU ON SH8 Puthuvely within 2.5kms | ERNAKULAM | REGULAR | 420 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 368 | on SH 1 | KOTTAYAM | REGULAR | 130 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| | Wandoor to Pandikkad(5 Kms from Wandoor) on | | | | | | | | | | | Draw of | | |
| 369 | SH73 | MALAPPURAM | REGULAR | 105 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| 370 | Cherthala Town (3 Km radius from bus stand) | ALAPPUZHA | REGULAR | 110 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 3 |
| 3/0 | Between Pattipara | ALAPPUZNA | REGULAR | 110 | 30 | CFS | 30 | 25 | 750 | U | 0 | LOIS | U | |
| | Junction & Palakkatuthazham | | | | | | | | | | | | | ı ! |
| | Junction on SH16 from | | | | | | | | | | | | | |
| 371 | Aluva to Munnar Road BETWEEN ADIMALI AND | ERNAKULAM | REGULAR | 190 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| | CHERUTHONI VIA | | | | | | | | | | | Draw of | | ı ! |
| 372 | KALLARKUTTY ON NH185 On NH between | IDUKKI | REGULAR | 200 | OPEN CC 1 | DC | 20 | 20 | 400 | 25 | 75 | Lots | 15 | 5 |
| | Kazhakootam and | THIRUVANANT | | | | | | | | | | Draw of | | |
| 373 | Mangalapuram on LHS Shastamangalam to | HAPURAM THIRUVANANT | REGULAR | 380 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Lots Draw of | 15 | 4 |
| 374 | Peroorkada | HAPURAM | REGULAR | 250 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Lots | 0 | 3 |
| 375 | KAKKANAD TO THENGODU | ERNAKULAM | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| 376 | VEMPALLY ON MC ROAD | KOTTAYAM | REGULAR | 120 | OPEN | CC | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| | Parathodu -Within 2kms of | | | | | | | | | | | Draw of | | |
| 377 | parathodu Jn. on NH-220 | KOTTAYAM | REGULAR | 240 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Lots | 15 | 4 |
| 378 | Peroorkada to Mannanthala | THIRUVANANT HAPURAM | REGULAR | 250 | OPEN | сс | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | | | | | | | | | | - | | | | |
| | Karickam (Between Kottarakkara Jn. and | | | | | | | | | | | Draw of | | |
| 379 | Panavely Jn. on M.C. Road) | KOLLAM | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| 380 | Kodakara Jn to koratty jn.(on LHS of NH544) | THRISSUR | REGULAR | 250 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | BETWEEN MARYKULAM | | | | | | | | | | | | | |
| 381 | AND ANAVILASAM ON SH41 | IDUKKI | REGULAR | 170 | ОВС | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 4 |
| | | | | | | | | | | | | | | |
| | Irumbupalam (within 4 km from Irumbupalam town | | | | | | | | | | | | | |
| 202 | on Neriamangalam- | 15111111 | REGULAR | 245 | 0051 | | 20 | 20 | 400 | 25 | 40 | Bod at a con- | 20 | ۱ ۔ |
| 382 | munnar road NH 49) Between Kannanellur and | IDUKKI | REGULAR | 245 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 202 | Pooyapally on Kollam- | VO | DEC | 427 | CT 011 | | 20 | 25 | 750 | • | _ | Draw of | _ | ا ۽ ا |
| 383 | Ayoor Road Vazhakode to Vallathol | KOLLAM | REGULAR | 127 | ST PH | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 3 |
| 384 | Nagar on SH 22 | THRISSUR | REGULAR | 150 | OBC PH | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| 385 | Mulankunnathukavu to Pullanikkad on SH 22 | THRISSUR | REGULAR | 220 | OPEN | сс | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| | | THIRUVANANT | | | | | | | | | | | | |
| 386 | Vazhayila Jn to Mukkola | HAPURAM | REGULAR | 160 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | Within 5kms from | | | | | | | | | | | | | |
| 387 | vazhakode junction on SH 74 towards pazhayannur | THRISSUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| | MANNARAKULANJI-RANNI | PATHANAMTHI | | | | | | | | | | Draw of | | |
| 388 | ROAD | TTA | REGULAR | 180 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Lots | 0 | 3 |
| | Karuvannur(Within 5kms | | | | | | | | | | | | | |
| | on the exit of Karuvannur bridge on towards Thrissur | | | | | | | | | | | | | |
| 389 | on SH 22) | THRISSUR | REGULAR | 180 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding | 30 | 5 |
| | Alappuzha to Ambalappuzha on NH 66 | | | | | | | | | | | | | |
| 390 | (RHS) | ALAPPUZHA | REGULAR | 156 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 391 | YEROOR(ON ANCHAL- KULATHUPUZHA ROAD) | KOLLAM | REGULAR | 195 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| | Between Angamaly | | | | | | | | | | | | | |
| | junction and Manjapra on Angamaly-Manjapra main | | | | | | | | | | | Draw of | | |
| 392 | Road | ERNAKULAM | REGULAR | 200 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 3 |
| | | | | | | | | | | | | | | |

| | | T. | | | I | I | | | | | | | | |
|-----|--|--------------------------|--------------|------|------------|-------|------|----|------|------|------|--------------------|----|---------------|
| | Alappuzha to Ambalappuzha on NH 66 | | | | | | | | | | | | | |
| 393 | (LHS) | ALAPPUZHA | REGULAR | 156 | OPEN | СС | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 394 | Kanjikuzhi on SH40 PASSPORT OFFICE TO | IDUKKI | REGULAR | 150 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | KUMARANALLOOR ON MC | | | | | | | | | | | | | l _ |
| 395 | ROAD SN JUNCTION TO | KOTTAYAM | REGULAR | 330 | OPEN | СС | 35 | 35 | 1225 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 396 | ARAKKAKADAVU | ERNAKULAM | REGULAR | 180 | OBC | DC | 20 | 20 | 400 | 25 | 60 | Lots | 15 | 4 |
| 397 | Vadanapally to Chavvakkad on NH17 | THRISSUR | REGULAR | 300 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Aroor to Cherthala on NH | | | | | | | | | | | Draw of | | |
| 398 | 66 (LHS) | ALAPPUZHA THIRUVANANT | REGULAR | 285 | OPEN CC 1 | DC | 35 | 45 | 1575 | 25 | 75 | Lots Draw of | 15 | 5 |
| 399 | Puliyoorkonam on SH-64 | HAPURAM | REGULAR | 265 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| 400 | Aroor to Cherthala on NH 66 (RHS) | ALAPPUZHA | REGULAR | 239 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | BETWEEN CHERUTHONI | | | | | | | | | | | | | |
| 401 | AND KATTAPANA ON NH185 | IDUKKI | REGULAR | 265 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| | | | | | | | | | | - | - | | | |
| | Between Kodakara To Thrissur Bye pass On LHS | | | | | | | | | | | | | l |
| 402 | of NH 544 (Old NH47) | THRISSUR | REGULAR | 260 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 403 | Koodalloor Jn to Kidangoor | KOTTAYAM | REGULAR | 260 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| 105 | Noodanoor 311 to kladingoor | KOTITATI | I I COOD III | 200 | 000 | 50 | 33 | | 1223 | - 23 | - 55 | 2013 | 13 | |
| 404 | Between Oonukal & Neriamangalam on NH85 | ERNAKULAM | REGULAR | 185 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| | | | | | | | | | | | | | | |
| | Pipeline Road from Thrikkakara to Padivattom | | | | | | | | | | | | | l |
| 405 | via Thoppil Junction | ERNAKULAM | REGULAR | 250 | OPEN | сс | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | CHEBINALIY/On | | | | | | | | | | | | | |
| | CHERUVALLY(On PONKUNNAM-MANIMALA | | | | | | | | | | | | | |
| 400 | ROAD (SH08) WITHIN 1 KM OF CHERUVALLY JN.) | VOTTAVA | REGULAR | 300 | 50.001 | CEE | 25 | 25 | 1225 | | | Draw of | | , , |
| 406 | Palayamkunnu to | KOTTAYAM THIRUVANANT | REGULAR | 260 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Lots Draw of | 0 | 3 |
| 407 | Mukkada on SH64 | HAPURAM | REGULAR | 250 | OBC CC 1 | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| 408 | On the Sreekaryam - Aakkulam Road | THIRUVANANT HAPURAM | REGULAR | 180 | OPEN | сс | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| | Erattupetta and Thidanad | | | | | | | | | | | Draw of | | |
| 409 | on SH44 On Thodupuzha-Alakode- | KOTTAYAM | REGULAR | 250 | OPEN PH | DC | 35 | 35 | 1225 | 25 | 60 | Lots Draw of | 15 | 5 |
| 410 | Poomala Road | IDUKKI | REGULAR | 250 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 3 |
| 411 | KATTAPPANA (WITHIN MUNICIPAL LIMITS) | IDUKKI | REGULAR | 245 | OBC | DC | 20 | 20 | 400 | 25 | 45 | Draw of Lots | 15 | 4 |
| 722 | KOLLAM | 150mm | ILEGOE III | 2-13 | 000 | 50 | 20 | 20 | 400 | 23 | | 2013 | 13 | |
| | BYPASS(BETWEEN KALLUMTHAZHAM & | | | | | | | | | | | | | l |
| 412 | KAVANAD) | KOLLAM | REGULAR | 189 | OPEN | сс | 35 | 45 | 1575 | 25 | 10 | Bidding | 30 | 5 |
| 413 | THAMMANAM KATHRIKADAVU ROAD | ERNAKULAM | REGULAR | 190 | OBC | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 4 |
| 413 | BETWEEN KUMILY AND | ENIVAROLAIVI | REGULAR | 150 | OBC | DC DC | 20 | 20 | 400 | 23 | 00 | LOIS | 13 | |
| | KATTAPPANA ON NH185 | | | | | | | | | | | | | l |
| 414 | WITHIN 5KM FROM ANAVILASAM | IDUKKI | REGULAR | 200 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| | BETWEEN HIGHSCHOOL | | | | | | | | | | | | | |
| | JUNCTION & NH 66 BYPASS ON KOLLAM- | | | | | | | | | | | | | l |
| 415 | ANCHALUMOOD ROAD | KOLLAM | REGULAR | 170 | OPEN | СС | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 416 | Sreekaryam to Pothencode | THIRUVANANT HAPURAM | REGULAR | 150 | OPEN | сс | 30 | 25 | 750 | 25 | 10 | Bidding | 30 | 5 |
| | | | | | | | | | | | | | | |
| | Kannamam-Sooranad North (between | | | | | | | | | | | | | ı |
| | Kannamam jn. & Sooranad | | | | | | | | | | | | | ı |
| 417 | north jn. on Charummod- | KOLLAM | DECLUAD | 150 | OPEN | 66 | 20 | 25 | 750 | 25 | 10 | Diddian | 20 | |
| 417 | Sasthamkota road) | KOLLAM THIRUVANANT | REGULAR | 159 | OPEN | СС | 30 | 25 | 750 | 25 | 10 | Bidding Draw of | 30 | 5 |
| 418 | Veli to Perumathura | HAPURAM | REGULAR | 194 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Lots | 15 | 4 |
| | Vavvakavu (between Vavvakkavu jn. & | | | | | | | | | | | | | l |
| | Karutheril L P School on | | | | | | | | | | | | | |
| 419 | Vavvakkavu-Pavumba- Anayadi road) | KOLLAM | REGULAR | 149 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 3 |
| | | | | | | | | | | - | | | - | |
| | Between Ollur junction and Kuttanellur junction | | | | | | | | | | | | | |
| 420 | on Padavarad road | THRISSUR | REGULAR | 200 | OPEN | сс | 20 | 20 | 400 | 25 | 10 | Bidding | 30 | 5 |
| 421 | Aroorkutty road (within Aroor municipal) | ALAPPUZHA | REGULAR | 180 | OPEN CC 1 | DC | 20 | 20 | 400 | 25 | 45 | Draw of Lots | 15 | 5 |
| | ERNAKULAM CITY (| | | 100 | 3,2,,,,,,, | 55 | | | ,55 | | | | | |
| 422 | WITHIN CORPORATION LIMITS) | ERNAKULAM | REGULAR | 230 | OBC | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 4 |
| | CHATHANNOOR - | | | | | | | | | | | Draw of | | |
| 423 | PARIPPALLY ON NH-66 BETWEEN ALADY AND | KOLLAM | REGULAR | 185 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Lots | 0 | 3 |
| | ELAPPARA ON STATE | | | | | | | | | | | Draw of | | |
| 424 | HIGHWAY Kavumbhagam Idinjillam | IDUKKI PATHANAMTHI | REGULAR | 365 | OPEN | DC | 20 | 20 | 400 | 25 | 60 | Lots Draw of | 15 | 5 |
| 425 | ROAD ROAD | TTA | REGULAR | 100 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Draw of Lots | 15 | 4 |
| | Rotugon Nalled and | | | | | | | | | | | | | |
| | Between Nellad and Vazhapilly on Pattimattom | | | | | | | | | | | | | |
| 436 | to Muvattupuzha road | EDMANUMAN | BEC: | 220 | ODEN | 500 | 25 | 25 | 1225 | 35 | | Draw of | 45 | _ |
| 426 | (SH41) Janatha Busstop to | ERNAKULAM | REGULAR | 320 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots Draw of | 15 | 5 |
| 427 | Moothakunnum | ERNAKULAM | REGULAR | 140 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| 428 | Karavaloor(On Anchal- Punalur Road) | KOLLAM | REGULAR | 210 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Pala-2(On Pala-Paika Road | | | | | | | | | | | | | |
| 429 | within 2kms from Pala Town.) | KOTTAYAM | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 4 |
| | Between Arakuzha | | | 250 | 550 | 55 | - 55 | | | | | | | |
| 430 | Junction and Pandapilly on SH41 | ERNAKULAM | REGULAR | 180 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | Between Uppukandam & | | | | | | | | | | | Draw of | | |
| 431 | Meenkunnam on SH1 Driver Mukku (Between | ERNAKULAM | REGULAR | 175 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| | Alummukku Jn. & | | | | | | | | | | | | | |
| | Mararithottam Jn. on | | | | | | | | | | | Dr | | |
| 432 | Karunagappally- Kottarakkara Rd) | KOLLAM | REGULAR | 172 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 3 |
| | | | | | | | | | | | | | | $\overline{}$ |

| | | T | | | I | ı | | | | | | | | |
|------|---|------------------------|--------------|-----|-----------|-------|------|------|-------|------|------|-----------------|-----|---|
| | Between Chelachuvadu and Murikkaserry on state | | | | | | | | | | | Draw of | | |
| 433 | highway | IDUKKI | REGULAR | 150 | OBC | DC | 20 | 20 | 400 | 25 | 60 | Lots | 15 | 4 |
| | Between Muvattupuzha | | | | | | | | | | | | | |
| 434 | and Thazhuvamkunnu on state highway | ERNAKULAM | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| 454 | Marayoor on | EMVARODAM | REGOLAR | 130 | OFEN | DC . | 33 | 33 | 1225 | 23 | - 00 | | 13 | |
| 435 | SH17(Munnar- Udumalpet Road) | IDUKKI | REGULAR | 155 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| 433 | PIPELINE JUNCTION TO | 150mm | I I COOL III | 100 | OI EII | 50 | - 55 | | 1223 | - 23 | - 55 | | -15 | |
| 436 | PADAMUGAL JUNCTION ON CIVIL LINE ROAD | ERNAKULAM | REGULAR | 180 | OBC | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 4 |
| | KALOOR JUNCTION TO | | | | | | | | | | | | | |
| 437 | CHANGAMPUZHA PARK VIA PERANDOOR ROAD | ERNAKULAM | REGULAR | 180 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Mannar to Mavelikara on | | | | | | | | | | | Draw of | | |
| 438 | SH 6 | ALAPPUZHA | REGULAR | 110 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| | BETWEEN MOONUPEEDIKA CENTRE | | | | | | | | | | | | | |
| | AND Sri Annapoorneswari | | | | | | | | | | | | | |
| 439 | Temple (Near Edanthirinji) ON SH 61 | THRISSUR | REGULAR | 210 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| 435 | Between Mayilapra and | | | 210 | OFEN | DC DC | 33 | 33 | 1223 | 23 | 00 | | 13 | |
| 440 | Mannarakulanji on NH183A | PATHANAMTHI TTA | REGULAR | 165 | OBC | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 4 |
| 440 | Thekkemala Junction - | | | 103 | 000 | 50 | - 55 | -13 | 1373 | - 23 | - 73 | | -15 | - |
| 441 | Aranmula-Chengannur on SH10 | PATHANAMTHI TTA | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Karinkada Junction to | THIRUVANANT | | | | | | | | | | Draw of | | |
| 442 | Tholicode on SH45 Vembayam to Pazhakutty | HAPURAM THIRUVANANT | REGULAR | 180 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots Draw of | 15 | 5 |
| 443 | on SH | HAPURAM | REGULAR | 160 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| | Between Thiruvalla and kizhakken Muthoor | | | | | | | | | | | | | |
| 444 | Busstop on Thiruvalla- Mallappally road | PATHANAMTHI TTA | REGULAR | 130 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Draw of Lots | 15 | 4 |
| | | IIA | NEGULAR | 130 | OBC | DC DC | 30 | 23 | 730 | 23 | 43 | | 13 | * |
| 445 | Ambalapuzha - Thiruvalla High way - SH 012 | ALAPPUZHA | REGULAR | 125 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | JANATHA BUS STOP to | | | | | | | | | | | Draw of | | |
| 446 | MOOTHAKUNNUM BETWEEN | ERNAKULAM | REGULAR | 150 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots | 0 | 3 |
| | VADAKKETHARA AND | | | | | | | | 4 | | | Draw of | | |
| 447 | PAMPADY ON SH 77 | THRISSUR | REGULAR | 100 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots Draw of | 15 | 4 |
| 448 | Oachira on NH-66 | KOLLAM | REGULAR | 216 | OPEN CC 1 | DC | 35 | 45 | 1575 | 25 | 75 | Lots | 15 | 5 |
| 449 | Mala to Ashatamachira on SH51 | THRISSUR | REGULAR | 180 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | MADAVANA TO SN JUNCTION ON PANANGAD | | | | | | | | | | | | | |
| | ROAD IN PANANGAD | | | | | | | | | | | Draw of | | |
| 450 | ISLAND | ERNAKULAM | REGULAR | 130 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Lots Draw of | 0 | 3 |
| 451 | ERAVIPURAM - PALLIMUKK | KOLLAM | REGULAR | 120 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Lots | 15 | 4 |
| | Nilamel (Between Nilamel Junction and | | | | | | | | | | | | | |
| | Thattathumala Jn. on MC | | | | | | | | | | | Draw of | | |
| 452 | Road) Within 3 Km of | KOLLAM | REGULAR | 119 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| | Kumarakom Boat Jetty on | | | | | | | | | | | | | |
| 453 | LHS towards Vaikom on SH 42 | KOTTAYAM | REGULAR | 111 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | NETTOOR MADAVANA | | | | | | | | | | | | | |
| 454 | ROAD ON PANANGAD ISLAND | ERNAKULAM | REGULAR | 130 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| | | | | | | | | | | | | Draw of | | |
| 455 | Kodakara to aloor on SH | THRISSUR | REGULAR | 135 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| | Mangadu to | PATHANAMTHI | | | | | | | | | | Draw of | | |
| 456 | Enadimangalam on Adoor- Pathanapuram Road , SH-5 | TTA | REGULAR | 166 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| 457 | Aryanad to Kallikadu | THIRUVANANT HAPURAM | REGULAR | 100 | OPEN CC 2 | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| -,5, | | THE STREET | COLAIN | 130 | 5.2.4662 | 50 | 33 | - 55 | 1227 | | 30 | 2013 | | |
| | BETWEEN CHEMBUKKAVU AND VIMALA COLLEGE(ON | | | | | | | | | | | Draw of | | |
| 458 | CHEROOR ROAD) | THRISSUR | REGULAR | 240 | OBC CC 1 | DC | 20 | 20 | 400 | 25 | 45 | Lots | 15 | 4 |
| | Karur (between Elanthoor | | | | | | | | | | | | | |
| | jn. and Tekkemala jn. on Thiruvalla-Kumbazha | DATUANIAST | | | | | | | | | | Dr | | |
| 459 | Thiruvalla-Kumbazha highway) | PATHANAMTHI TTA | REGULAR | 270 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| | Between Attingal & | THIRUVANANT | | | | | | | | | | Draw of | | |
| 460 | Avanavancherry on SH-47 | HAPURAM | REGULAR | 240 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| 461 | Between Kilimanoor & Thattathumala on SH-1 | THIRUVANANT HAPURAM | REGULAR | 175 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Draw of Lots | 15 | 5 |
| | Trichur town(Between | a Granivi | | | 0.2.1 | 25 | - 33 | - 55 | | | - 55 | | | |
| 462 | Trichur museum and market junction) | THRISSUR | REGULAR | 200 | OBC | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 4 |
| | On Venpalavattom - | THIRUVANANT | | | | | | | | | | Draw of | | |
| 463 | Anayara - Pettah Road Alamcode to Velamkole on | HAPURAM THIRUVANANT | REGULAR | 180 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Lots Draw of | 0 | 3 |
| 464 | SH-46 | HAPURAM | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| 465 | Ambalapuzha to Haripad on NH 66 (LHS) | ALAPPUZHA | REGULAR | 180 | OPEN | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 5 |
| 466 | Between Kuthukuzhy and Onnukal on NH85 | ERNAKULAM | REGULAR | 160 | OBC | DC | 35 | 45 | | 25 | 75 | Draw of | 15 | 4 |
| 400 | | ENIVARULAM | REGULAK | 100 | UBC | DC. | 33 | 45 | 1575 | 25 | /3 | Lots | 12 | 4 |
| 467 | BETWEEN MEVARAM AND CHATHANNOOR ON NH66 | KOLLAM | REGULAR | 220 | OPEN | DC | 35 | 45 | 1575 | 25 | 75 | Draw of Lots | 15 | 5 |
| | Pallikara Junction to | | | | | | | | | | | Draw of | | |
| 468 | Valamboor Junction BETWEEN Amalanagar to | ERNAKULAM | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Lots Draw of | 0 | 3 |
| 469 | Mundur on SH69 | THRISSUR | REGULAR | 300 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| 470 | Between Thirumala Jn and Peyad jn | THIRUVANANT HAPURAM | REGULAR | 160 | OBC | DC | 30 | 25 | 750 | 25 | 45 | Draw of Lots | 15 | 4 |
| 4,0 | Within 5km radius from | OTANI | | 100 | OBC | - DC | 30 | - 23 | ,,,,, | 2.5 | 7.7 | | 13 | - |
| 471 | Chalakudy town Not on NH/SH | THRISSUR | REGULAR | 170 | OPEN CC 1 | DC | 20 | 20 | 400 | 25 | 45 | Draw of Lots | 15 | 5 |
| _ | Teekoy(On Erattupetta- | | | - | | | | | | - | | | | |
| 472 | Wagamon Road within 2kms of Teekoy | KOTTAYAM | REGULAR | 215 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| | | | | | | | | | | | | | | |

| | BETWEEN | | | | | | | | | | | | | |
|-----|----------------------|-----------|---------|-----|------|----|----|----|------|----|----|---------|----|---|
| | KOOTHATTUKULAM & | | | | | | | | | | | Draw of | | 1 |
| 473 | VAZHITHALA ON SH40 | ERNAKULAM | REGULAR | 135 | OBC | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 4 |
| | | | | | | | | | | | | | | |
| | BETWEEN PANDAPILLY | | | | | | | | | | | | | |
| | AND THODUPUZHA ON | | | | | | | | | | | | | 1 |
| | THODUPUZHA- | | | | | | | | | | | Draw of | | |
| 474 | RAMAMANGALAM ROAD | IDUKKI | REGULAR | 280 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |
| | ON SH 40 ,BETWEEN | | | | | | | | | | | | | |
| | BUND ROAD JUNCTION & | | | | | | | | | | | Draw of | | |
| 475 | AMBIKA MARKET | KOTTAYAM | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 25 | 60 | Lots | 15 | 5 |

If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension.

The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH Sites

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension.

The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35m would be preferable for other than NH Sites

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in and www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS. IN THEIR OWN INTEREST. SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

| Type of RO | Type of Site | Category | Applicatio n fee in Rs. | Type of RO | Type of Site | Category | Application fee in Rs. |
|-------------|--------------|----------|-------------------------------|------------|--------------|----------|------------------------|
| Regular Ros | CFS | SC/ST | 3000 | Rural ROs | CFS | SC/ST | 2500 |
| | CC | OBC | 5000 | | CC | OBC | 4000 |
| | CC | Open | 10000 | | CC | Open | 8000 |
| | DC | OBC | 5000 | | DC | OBC | 4000 |
| | DC | Open | 10000 | | DC | Open | 8000 |

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of <u>15</u> years and renewable every <u>5</u> years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

| Territory | Districts Covered | Address | Contact No. | |
|-----------|---|--|---|--|
| Calicut | Kasargod, Cannanore, Kozhikode, Malapuram, Wayanad, Palakkad | Bharat Petroleum Corporation Ltd., Territory Office, Ceekey Towers, Vandipetta, Nadakkavu, Calicut - 673 011 | 9487484784 / 0495-2767280 vedhiv@bharatpetroleum.in | |
| Ernakulam | Trivandrum, Pathanamthitta, Idukki, Kollam, Alleppey, Ernakulam, Thrissur, Kottayam | Bharat Petroleum Corporation Ltd., Territory office, Irimpanam Installation Seaport-Airport Road, Irimpanam, Ernakulam - 682309 | 9495272770 / 0484-2774602 jayakumarkn@bharatpetroleum.in | |

^{*} The site should either be Owned or on lease with applicant for minimum 19 years and 11 Months or Applicant should have firm offer for the same.